
2
’’

2
’’

3’’

4 sides
 1/4 

6’’

@ ~

1 1/2 ’’

B B

SECTION B-B SECTION A-A

6’’

@ ~

1 1/2 ’’

2
’’

2
’’ Typ.

Typ.

Typ.

3’’

Mill to bear

A A

4 sides
 1/4 

 1/2 ’’ ‘ (Bend for skew)

C15 x 33.9

Channel flanges

outward from joint

1 
1/

2 
’’

ty
p

.

Bearing

stiffener

~  3/4 ’’ } H.S. bolts

 15/16 ’’ } holes

Constant across

structure

1 1/2 ’’ 1 1/2 ’’

3’’ 3’’4’’

Stage III construction

1 
1/

2 
’’

1 
1/

2 
’’

3
’’

3
’’

~  3/4 ’’ }

H.S. bolts

12

Cost of Timber Block Posts is

included with Structural Steel.
**

Timber block

posts
**

~ Girder~ Girder

6
 -

 S
p
a
. 
a
t 

5
 1

/2
 "

3
’-

1
’’

=
 2

’
-
9

"

2
’-

7
 1

/2
 ’

’

5
 -

 S
p

a
. 

a
t 

5
 1

/2
 "

=
 2

’-
3

 1
/2

 "

~  3/4 ’’ } H.S. bolts

 15/16 ’’ } holes

 1/2 ’’ ‘ (Bend for skew)

 5/16 

 5/16 

 5/16 

 5/16 

 5/16 

7’-0" D2

D3

Connecting ‘  1/2 " x 5 1/2 " x 3’-10", Typ.

=
 2

’
-
9

"

1 1/2 ’’

3’’

6’’

@ ~

Typ.

, Typ.

, Typ.

, Typ.

Typ.

INTERIOR DIAPHRAGM, D2 & D3

2
’’

2
’’

3’’

6’’

@ ~

1 1/2 ’’

C

~ girder web and

~ C at end of channel

6
 -

 S
p
a
. 
a
t 

5
 1

/2
 "

3
’-

1
’’

=
 2

’
-
9

"

~  3/4 ’’ } H.S. bolts

 15/16 ’’ } holes

 5/16 

 5/16 

Connecting ‘  1/2 " x 5 1/2 " x 3’-10", Typ.

=
 2

’
-
9

"

1 1/2 ’’

3’’

6’’

@ ~

Typ.

, Typ.

INTERIOR DIAPHRAGM, D4

C

See Bolted Tab Plate Connection Detail

4 sides
 1/4 

 1/2 ’’ ‘ (Bend for skew), Typ.

, Typ.

2
’’

2
’’

3’’

6’’

@ ~

1 1/2 ’’

6
 -

 S
p
a
. 
a
t 

5
 1

/2
 "

3
’-

1
’’

=
 2

’
-
9

"

~  3/4 ’’ } H.S. bolts

 15/16 ’’ } holes

 5/16 

Connecting ‘  1/2 " x 5 1/2 " x 3’-10", Typ.

=
 2

’
-
9

"

1 1/2 ’’

3’’

6’’

@ ~

Typ.

, Typ.

INTERIOR DIAPHRAGM, D5

SECTION C-C

See Bolted Tab Plate Connection Detail

BOLTED TAB PLATE CONNECTION DETAIL

‘ 3/8 "x 9"x 1’-1"

each side

6’-0"

6
 -

 S
p
a
. 
a
t 

5
 1

/2
 "

2
"

2
"

3
’-

1
"

7’-0"

6
 -

 S
p
a
. 
a
t 

5
 1

/2
 "

2
"

2
"

3
’-

1
"

6’-0"

6
 -

 S
p
a
. 
a
t 

5
 1

/2
 "

2
"

2
"

3
’-

1
"

4" 4"

4 sides
 1/4 

 1/2 ’’ ‘ (Bend for skew), Typ.

, Typ.

6
’’

*

*

* Girder Spacing

*

*

~ girder web and

~ C at end of channel

 

  

 

 

 U

STRUCTURE NO. 016-1250

AY/RDW

AY/DM

RLD

404

NONE

297

DIAPHRAGM DETAILS

60J14

2746 1616B COOK

BB

 3/4 " Tab Plate

~ Diaphragm

Connection Plate

~ Girder 10 or 11  
~ Girder 9 or 12

~ Girder 10 ~ Girder 11

B B

~ 3/4 " Bolts with

Hex Nut & Washer
Weld after plate is
bolted to flange

~ Web

 
 3

/4
 "

C

C
4 3/8 "

 1" Clip

 

 

 2
 1

/2
 "

 C
li

p

v
e
rt

ic
a
l

Diaphragm
Connection Plate

 1/4 "
 1/4 "

4
"

E
n

d
 o

f
 w

e
ld

C

C

~ 3/4 " Bolts, typ.

38 Required10 Required 224- D2 & 8- D3 Required

5 Required

S28 OF S59

Stage I or II construction

Order diaphragm in two sections.

Attach section  1  of diaphragm to girder.

Place timber block posts between section  1  of diaphragm and

abutment bearing section.

Attach section  2  of diaphragm to both girder and section  1

of diaphragm during stage III construction with splice plates.

Remove timber block posts.

Notes: 

1.

2.

~ C15 x 40 (Note 2)
~ C15 x 40 (Note 2)

~ girder web and

 ~ of C15 x 40 (Note 2)

Two hardened washers required for each

set of oversized holes.

Alternate channels C15x50 are permitted

to facilitate material acquisition. Calculated

weight of structural steel is based on C15x40

sections. The alternate, if utilized, shall be 

provided at no extra cost to the department.

1.

2.

3.

4.

5.

USER NAME =

PLOT SCALE =

PLOT DATE =

REVISED

REVISED

REVISED

REVISED

NO.
SECTION COUNTY

ILLINOIS FED. AID PROJECT

TOTAL

SHEETS

SHEET

NO.RTE.

STATE OF ILLINOIS

DEPARTMENT OF TRANSPORTATION

DESIGNED -

-

-

-

   

   

   

   

   

   

   

   

 
 

 
 

     

 F.A.

CONTRACT NO.

PATRICK ENGINEERING INC.

4970 VARSITY DRIVE

LISLE, IL 60532

patrickengineering.com

SCALE:DATE

DRAWN

CHECKED

Q:\IDOT\21050_006_CumberlandAve\Drawings\CADD Sheets\D160J14-sht-tsl-Diaphragm.dgn

SHEET NO.              SHEETS

COOK1616B2746 404

2/18/2013

END DIAPHRAGM, D1 & D6

END DIAPHRAGM D6

STAGE CONSTRUCTION SEQUENCE


